
detection of excessive columns works in nesting here:

Y Y Y Y Y col : 2

Y Y Y Y Y col : 2/2 col : 3/2 ERROR

Y Y Y Y Y col : 2/2

detection of excessive columns can be misled by gathered:

Y Y Y Y Y col : 2/2

Y Y Y Y Y col : 1/2 col : 2/2

Y Y Y Y Y col : 2/2

alignedat does not detect excessive column in final row:

Y Y Y Y Y col : 2/2 col : 3/2 ERROR

Y Y Y Y Y col : 2/2 col : 3/2 ERROR

Y Y Y Y Y col : 2/2 col : 3/2

Inconsistencies in eliminating the trailing tabsep in aligned:

X

XY

X

XY

XY

XY

XY

XY

XY

XY

1


